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Suma de decimales (2 digitos)

Nombre:

5.84
+7.78

2.15
+7.85

/.03
+8.32

1.44
+4.37

4.94
+4.48

9.91
+4.45

5.4
+8.08

8.98
+2.73

3.55
+9.81

5.55
+6.7/3

8.88
+7.06

www.snowmath.com

5.65
+3.45

Puntuacion:
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9 v
e
=

Suma de decimales (2 digitos)

Nombre;

5.84
+7.78

13,62

2.15
+7.85
10

1.44
+4.37
5,81

5.4
+8.08

13,48

Fecha:

/.03
+8.32
15,35

4.94
+4.48
9,42

8.98
+2.73
11,71

5.55
+0./3
12,28

www.snowmath.com

9.91
+4.45

Puntuacion:

14, 30

3.55
+9.81

13,36

8.88
+7.06

15,94

5.65
+3.45
9,1
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